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(- ) sum=0;
for (i=0; i<n; i++)
sum-++;
~ ) sum=0;

for (i=0; i<n; i++)
for (j=0; j<n; j++) sum++;
(=) sum=0;
for (i=0; i<n; i++)
for (j=0; j<nxn; j++) sum++;
(2= ) sum=0;
for (i=0; i<n; i++)
for (j=0; j<i; j++) sum++;
(7 ) sum=0;
for (i=0; i<n; i++)
for (j=0; j<ixi; j++)
for(k=0; k<j; k++) sum++;
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package Test;
class CStu {
private int weight, height;
CStu() {
weight = 0; height = 0;}
CStu(int weight, int height) {

(-) [5~1] }
public void showData() {
(=) [5~1|n

class SonCStu extends CStu {
private int bmi;
SonCStu() {

(2) [5~1)
SonCStu(int weight, int height, int bmi) {

(z) [5%1]}
public void showData() {
() [5~1|n
public class Test {

public static void main(String[] args) {
CStu John = new CStu(65, 170);
John.showData();
System.out.printin("\n");
SonCStu Tom = new SonCStu(52, 155, 21);
Tom.showData();}




